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HTHT=T (3397 :

@) @5t 3o HarEf &

(i) Yo7-GEI11 8 8 7% 37ld Tg-FoIT T & | I9% 97 & g 1 3w & |
(iii) FoT-TCIT9 G 18 T% TY-IT0T Jo7 & | Fe%h J97 & 7w 2 7 & |

(iv) Fo7-GEIT 19 & 27 7% 4 TG-FT0T J97 & | I 9% Fo7 & 70 3 37% 8 /
(v)  Fo7-GEIT28 T 30 TF FH-I70T F97 & | IA% J97 & 707 5 37% & |

(vi)  STFFTHATIR TIT 2Tl HT FIT F | Fogpeied] & ITINT &1 AT TG 8 |

General Instructions :
(1) All questions are compulsory.

(it)  Questions number 1 to 8 are very short-answer questions and carry
1 mark each.

(iii)) Questions number 9 to 18 are short-answer questions and carry 2 marks
each.

(iv) Questions number 19 to 27 are also short-answer questions and carry
3 marks each.

(v) Questions number 28 to 30 are long-answer questions and carry 5 marks
each.

(vi)  Use Log Tables, if necessary. Use of calculators is not allowed.

1. 9Ig3li o W 9iEned shi fafy o1 smawee g &= g ?

On what principle is the method of zone refining of metals based ?

2. 3@ dushH &1 A1 foifer &8 S 8 (micelles) §9d 8 |

Name the temperature above which the formation of micelles takes
place.
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7 1 37 Fed gT &R A H FAEd HIT :
NH;, PH,, AsH;, SbH;, BiH,

Arrange the following in the increasing order of their basic character :

NHS, PH3, ASH3, SbH3, BiH3

e gt fore goer <Al gHTeedn fewma 2
[Co(NH;)5S0,ICI

What type of isomerism is exhibited by the following complex :
[Co(NH3)5;S0,]1C1

fc.c. Thh TA o TR hl TS (a) 3R T Bon(r) o1 oweht wrery

ferflaw |

Express the relationship between atomic radius(r) and the edge

length (a) of the f.c.c. unit cell.
T GHI § | SF-91 AT g 7 3R &=l 2
CH;NH, 3¥ar NH,

Which of the two is more basic and why ?
CHSNHz or NH3

39 ik w1 A fofae St sgersheRor W e Tar 7 |

Name the compound which on polymerisation gives neoprene.

frefetfigd Aifies o1 o159, 91T . (IUPAC) 9™ ffE :
: :OH
CHO
Write the IUPAC name of the following compound :

<ol
CHO

P.T.O.



10.

11.

12.

56/2/2

frafafea & +@ fafau .

i) FrasmMed com

(i)  vgHfEm & fagq-arged U TwEe B8 #
Write the role of the following :

) CO in the purification of nickel

(i1))  Graphite rod in the electrometallurgy of aluminium

e wfientont i g i
1) 2MnO, + 5NOy +6 H" -

() Cr,07 +14H'+6e >

Complete the following equations :

1) 2MnO, + 5NOy; +6 H" -

(i) Cr,07 +14H'+6e —

FHL [Ni(CN),] 2~ hl HehTuT 31a€, 3Tehid 3R TUPAC 9™ faRax |
(Ni T TTATY] ShHTH = 28)

Write the state of hybridization, shape and ITUPAC name of the complex
[Ni(CN),] 2. (Atomic no. of Ni = 28)

TEEHS Rt ffae S«
(i)  Afe FaEs H AgNO, 8 AR it St 2 |
(i) TS AICI, i 3ufearfa & sme=T St CH,Cl® Affshan <l St 2 |

Write chemical equations when

) methyl chloride is treated with AgNO,.

(ii)  bromobenzene is treated with CH3Cl in the presence of anhydrous
AlCls.



13.

14.

15.

56/2/2

e srfufshansti o wgeh 1fireRdehl & 1 foIfew 2

(1)
(i1)
(iii)

(iv)

BT T AT GRT 2,4,6-2TeATSe BT ST
A U AT ST

UM 1 ShISd — shTHed UEifeeten

Ui Ucohigid o STFHIR ¥ Ufcegse sSaM T

Name the reagents used in the following reactions :

(1)
(i1)
(iii)

(iv)

(a)

(b)

(a)

(b)

Nitration of phenol to 2,4,6-trinitrophenol
Butanal to Butanol
Friedel — Crafts acetylation of anisole

Oxidation of primary alcohol to aldehyde

=1 i @ fopm Ufesrat gase i o9 Sy 2 Tehanfaty gra e1fees e
T ATUTSHAT ST hT AT BT I F=AT ?
CH3—CH2—CH—CH3 CH3—CH2—CH2—CH2—BI'

|
Br

Sy 1 rffsranaett & Yefertor &1 Srar 2 | s 2 2

Which alkyl halide from the following pairs would you expect to
react more rapidly by an Sy2 mechanism and why ?
CH3 - CH2 - CH - CH3 CH3 - CH2 - CHZ - CH2 — Br
|
Br

Racemisation occurs in Sy1 reactions. Why ?

e srfufsran <hi foranfafer fofam - 2

CH,CH,O0H —HBT_, CH,CH,Br + H,0

Write the mechanism of the following reaction :

CH,CH,O0H —HBT_, CH,CH,Br + H,0

5 P.T.O.



16.

17.

18.

56/2/2

Ni(NO;), % Teh o= &1 @il o Soaeisl o s 5-0 TrRR fogq g =
20 fire I YA 1uded fham w1 | ke W kel 1 foha g Fafua
g ?

(feam o 2 - fehar &1 wHTY] gem™ = 58-7 g mol ™!, 1 F = 96500 C mol?)

A solution of Ni(NOjy), is electrolysed between platinum electrodes using

a current of 5:0 ampere for 20 minutes. What mass of nickel will be
deposited at the cathode ?

(Given : At. Mass of Ni = 58-7 g mol™, 1 F = 96500 C mol™)

Atufsean 1 a1d g K wfwmwn fafew | = % e oy & ol o
fafigu .

(i) I Hife 6T afufspan

(i) WM hIfe i AffsRa

Define half-life of a reaction. Write the expression of half-life for
(1) zero order reaction and

(11) first order reaction.

FeHL o 1 AN Hg@qul TREUl o W [IRaT | 39 gHI § & HIA-81 He a
T LR BT 8 2 7 BT & I TR ®9 1 370 K SW WA TohaT Sar 8 2

AT

(i) = fafy & H,S0, St Ifd = Afehan a9 & Sfdery fafen |
(ii) wﬁHQSoﬁn%mKaz«Kalaa“’r%?

Name the two most important allotropes of sulphur. Which one of the two
is stable at room temperature ? What happens when the stable form is
heated above 370 K ?

OR

(1) Write the conditions to maximize the yield of H,SO, by contact
process.

(ii) Whyis Ka2 << Ka11 for Hy,SO, in water ?

6



19. T o I W Tiderg T AW o I, Th bl o BAT A o foram foh
g AN ! ATAEREl R JAT FE W TATECSH o Al o FIHDRD I9E &
g ®UT | 91 HI AfGeh T S 6 T, 37 qE Thal & a1y A
T Tt SR "iedal s=H ardl, gehHarl 3R feurdieed Rl § HA %
dct e | Tt BET A Y07 foRa T @ AT A 61 S % forw wfasy § aicltei=
& Il T TAT AR BT |
39T W@ ol qgRL i Je1 o I T ¢ 3
()  BE A R ot i g g 2
(i)  Sa-FEfolia Sgae 1 8id @ ? T 35 AT |
(i) =1 et T @H (SHI) TgAH @ AU HE (co-) TFAD @ ?

After the ban on plastic bags, students of one school decided to create
awareness among the people about the harmful effects of plastic bags on
the environment and the Yamuna river. To make it more impactful, they
organized a rally by joining hands with other schools and distributed
paper bags to vegetable vendors, shopkeepers and departmental stores.
All students pledged not to use polythene bags in future to save the

Yamuna river.

After reading the above passage, answer the following questions :
) What values are shown by the students ?

(i1))  What are biodegradable polymers ? Give one example.

(i1i)  Is polythene a homopolymer or copolymer ?

56/2/2 7 P.T.O.



20. 7 gei <1 gftememd fafaw .

(a)  UTCHahEs
(b)  UHHAT A
(c) U~ITgH

Define the following terms :
(a)  Polysaccharides
(b)  Amino acids

(c) Enzymes

21. () UifEEend i v 3qeor afga afm fafay |
(i) = snwfern & @ sH-H ufedifass 2
AT, SHATH, FARTES Hehlel, TR |
(i) UTTEH S I9AN 38 HISH TR 9 verert qeh diftra <= g1 8 2

(1) Define Antihistamine with an example.

(ii))  Which one of the following drugs is an antibiotic :
Morphine, Equanil, Chloramphenicol, Aspirin.

(iii) Why is use of aspartame limited to cold food and drink ?

22, 7 arfyfsransti § A, B 31 C <hl S=ATE 9dqTsy

- HNO
()  CHyBr—KCN , 5 LiAlH, g 2,
273K
H HCI H
(i)  CHyCOOH —“Hs , o Br tROH , CHOL, +NaOH .
A
Give the structures of A, B and C in the following reactions :
- HNO
()  CHyBr— KON , 5 LiAlH, g 2,0
273K
H HCI H
(i)  CHyCOOH —“Hs , o B tROH , CHOL, +NaOH .

A

56/2/2 8



23.

24.

56/2/2

(i)

(ii)

(iii)

(iv)

(1)

(ii)

(iii)

(iv)

(1)

(ii)

(1)

(i1)

KCI for8 TR T WHHIRUIHA T o fe@mdr & 7T == 2
fafeTeria sl As @ SIfud v W ford TR k1 3Tef=ITetsh o9dT © 2

=1 ¥ 9 a1 3nfuaes 319 A1 3 @
CO,, 31T Si0,

TH W pA-E AU =8 grah SHTW, BUGER ggrd rYdn
higreeh qeef ? 3

What type of stoichiometric defect is shown by KCl and why ?

What type of semiconductor is formed when silicon is doped with
As?

Which one of the following is an example of molecular solid :
COy or SiO,

What type of substances would make better magnets,
ferromagnetic or ferrimagnetic ?

LR S S g1 H Hy, — O, 389 8a & g @y fafem |

= & 8 "o Atk % o g e (K,) 103 | 38k foml E;H

gitesfera HifST |
A (s) + B¥* (aq) <= A" (aq) + B (s) 3

Write two advantages of Hy — O, fuel cell over ordinary cell.

Equilibrium constant (K., for the given cell reaction is 10.

Calculate Eqy;.

A (s) + B?* (aq) «<= A?"(aq) + B (s)

9 P.T.O.



25.

R TR STawe B SO,Cl, & YoM Ife & FEH Tqued § f srehe urg

Tq g .
SO,Cly(g) ——> SOy(g) + Cly(g)

TN | 999/s~! | Hehdd el¥/atm

1 0 0-4
2 100 0-7
77 fesries ufterfera ShifST |

(fezm =1 2 : log 4 = 0-6021, log 2 = 0-3010)

The following data were obtained during the first order thermal
decomposition of SO4Cl, at a constant volume :

26.

56/2/2

SO,Cly(g) —> SO4(g) + Cly(g)

Experiment | Time/s™1 Total pressure/atm
1 0 04
2 100 0-7

Calculate the rate constant.
(Given : log 4 = 0-6021, log 2 = 0-3010)

(a) 3 W G & fumiwer & fau wiaesfas  rfuwiww g
(isotherm) @ foTq Teh THishtur o ®9 ¥ =i faifay |

(b)  HHGH h TRIETH TTawT R TNET HeaH 1 3 ?
(c) Tz AR A o fHeH o TIF W Sl sHaT 7 | F1 2

(a)  Write the expression for the Freundlich adsorption isotherm for
the adsorption of gases on solids, in the form of an equation.

(b)  What are the dispersed phase and dispersion medium of butter ?

(c) A delta is formed at the meeting place of sea and river water.
Why ?

10



27.

56/2/2

() TS S G fafta vt srewm fogm 8 2
(b)  THHY Tl shi af farrwand fafay |

(¢) 3d-sTeh o dwal § © Toh-foh ol TshHYT dxdl &1 W1 ST Hehal & 3T
2 ? 3

HAYAT

fe & fore S s fafe

(a) T +3 STTRETHIT HITEAT Tl ITH HH o foIT Fe?* Afireni i qorm
Mn?2* 3ifier 31feres €emft gid 2 |

) Sc(Z=21) 8 Zn (Z = 30) 9% & 3d WIS & ai H ¥ Zn i
TCHTIERTOT <l T-edt el hH BT 7 |

(¢) e T § Sed* T giar 8 Siefes Tist TiiF gar 2 | 3

(a) What are the different oxidation states exhibited by the
lanthanoids ?

(b) Write two characteristics of the transition elements.

(c) Which of the 3d-block elements may not be regarded as the
transition elements and why ?

OR

Assign suitable reasons for the following :

(a) The Mn?* compounds are more stable than Fe?* towards oxidation
to their + 3 state.

(b)  In the 3d series from Sc (Z = 21) to Zn (Z = 30), the enthalpy of
atomization of Zn is the lowest.

(c) Sc?* is colourless in aqueous solution whereas Ti%* is coloured.

11 P.T.O.



28.

56/2/2

(a)

(b)

(a)

(b)

(a)

(b)

IS & e SAfireprent o @y srfufshan i W s Iael Wi fafau
(i) CH;MgBr¥ 3R TR H,0* ¥

(i) Zn-Hg/Ers HCLH

(iii) a9 NaOH ! 3ufeafd & CqH,CHO ¥

= <Aifies Tl § e 9 S o e oa qEmEte wWe S
(1) Seorge 3 IR e Sesiee
(i) U IR FYA-2-31H
srraT
ﬁﬂ%W%’F@Q

(i) HCN % @9 31fufsean s & CH;COCH; @ CH,CHO 3iferss
arfirfspamsfiet gian 2 |

(i) TfipeioEgs (H,NNHCONH,) H & —NH, J9 &d & | 6 oft
THfihTE - | Shadd Th — NH, J9 fshameil g 8 |

g amarh stfsifsranst & fou vemafes g fafan .

i)  ToHg-s Afifsean
(i) BA-aTATS-Afo=hl frfsman
(iii) e Afdrfspan

Write the products formed when ethanal reacts with the following
reagents :

(i) CH3MgBr and then H;O*

(11) Zn-Hg/conc. HCI1

(iii) CgH5CHO in the presence of dilute NaOH

Give simple chemical tests to distinguish between the following
pairs of compounds :

(i)  Benzoic acid and Ethyl benzoate
(ii) Propanal and Butan-2-one
OR

12



(a)

(b)

29. (a)
(b)
(a)
(b)

56/2/2

Account for the following :

(1)

(ii)

CH3CHO is more reactive than CH3COCHj3 towards reaction
with HCN.

There are two —NH,; groups in semicarbazide
(HobNNHCONH,). However, only one is involved in the

formation of semicarbazone.

Write the chemical equation to illustrate each of the following

name reactions :

(1)
(ii)

Rosenmund reduction

Hell-Volhard-Zelinsky reaction

(ii1) Cannizzaro reaction

IRl 3TaFal I faeeH & foau U3ee fam fafgu | g+t g ik

qIshAT W T3¢ oM STTER @ aTe faeee &1 9m fafEw |

200 g 5@ # 10 g CaCl, 9 § W 5T foe™@d & fog Faeme e
Hl ufepfcrd #iT | (W@ & Tt K, = 0512 K kg mol ™,
CaCl, T HIe’ g0 = 111 g mol 1)

AT

1 gl <l afwmmd fafe

(i)
(i1)

feereaneft (VirRe)
Tt (ST g

(iil) STHET (FifcAlled) Torgd

9-8% (w/w) HySO, % faerm =it diertan uftesfera Shifsre afe sa faerm
% T 1-02 g ml~ & | (HySO, 3T Hiek G99 = 98 g mol™!)

13 P.T.O.



30.

56/2/2

(a)

(b)

(a)

(b)

(a)

(b)

(a)

State Raoult’s law for a solution containing volatile components.
Name the solution which follows Raoult’s law at all concentrations

and temperatures.

Calculate the boiling point elevation for a solution prepared by
adding 10 g of CaCl, to 200 g of water. (K, for water =

0-512 K kg mol™!, Molar mass of CaCl,=111g mol ™)

OR

Define the following terms :
(i)  Azeotrope
(i1)) Osmotic pressure

(iii) Colligative properties

Calculate the molarity of 9-8% (w/w) solution of HySO, if the density
of the solution is 1-02 g mI~*. (Molar mass of H,SO, = 98 g mol™)

=1 & ROT SaTsT

i) + 5 I9EAT H Bi IS U BT 7 |

(ii) PCls @ STHT ST 8 9g NCl; &l |

(iii) g HC1H Yo FeCl, 9911 8, FeCl, Tl |

7 <hl gr=ATd SF1ET

i XeOF,
(i) HCIO,

AYAT
=1 i T Ry
(1)  H,S,04
(ii) M Py

14



(b)

(a)

(b)

(a)

(b)

56/2/2

=1 o s fafem 3
(i) 9TSq AT H Ty (Hohr) STIgrached JERid dl 7 |

(Gi) SHE ¥ fim, difcem &1 i e gEEts A Ja 1@l
2

(iii) HsPO3; ¥ HyPO, Th Ak Jaet TR 8 |

Account for the following :

(i)  Biis a strong oxidizing agent in the + 5 state.
(ii) PClj is known but NClj is not known.

(iii) Iron dissolves in HCI to form FeCl, and not FeCls.

Draw the structures of the following :

(i) XeOF,
(ii) HCIO,4
OR
Draw the structures of the following :
(1) HZSZOS
(ii) Red P4

Account for the following :
(i)  Sulphur in vapour state exhibits paramagnetism.

(i1) Unlike xenon, no distinct chemical compound of helium is
known.

(iii) H3PO, is a stronger reducing agent than H3POs.

15 2,800



MARKING SCHEME
Chemistry — 2014
FOREIGN — SET (56/2/2)

1 Impurities are more soluble in the melt than the solid state of the metal. 1
2 Kraft temperature 1
3 BiH; < SbH3 < AsH3 < PH3 <NHj3 1
4 lonization isomersion 1
5 |[r=ZX 1
242
6 CHs — NH; ; because of increase in electron density on N by +I effect of CHs; group Y+
7 Chloroprene 1
8 2 — hydroxybenzaldehyde 1
9 (i) CO reacts with Ni to form volatile compound [Ni (CO)4] which on further heating at 1
higher temperature gives pure Ni
(ii) Graphite acts as anode and prevent the liberation of O, by forming CO; gas and CO 1
gas
10 | (i) 2MnO7%4 + 5NO>, + 6H* = 2Mn?* + 5NO’; + 3H,0 1+1
(i) Cr,07% + 14H* + 6e" = 2Cr3* + 7H,0
11 | dsp?, square planar Yot¥s
Tetracyanonickelate (I1) 1
12 | (i)CHsCl + AgNO, — > CHs NO; + AgCl 1
(ii)
Cl Cl o Cl
rL S E Anbyd, AlCL ‘/]chn ’L‘ﬁ 1
| )+H1c-~-c1—'”- [ | Lﬂ
o - e
0" ~CH,
13 (i) Conc.HNO3 Yax4=2
(ii) LiAlHs or NaBH4 OR H,/ Ni
(i) R COCl/anhyd AICIs
(iv) CrO;
14 a) 1-Bromobutane / CH3 CH, CH; CH,Br Yot ¥s
Because it is a primary alkyl halide
b) Because carbocation formed in Sy1 reaction is sp? hybridized and planar. 1
15 | HBr -» H* + Br
I
na +
CH, — CH,— O—H+ H'—>CH,—CH,—O-H s



http://www.tiwariacademy.com/

H
.l"\l
vle +

CH, —CH.—0O—H —> CH, — CH, + H:0

Yo

t.. Br, C 1
CH;‘CHQ L CHE}_ g_BI'
Or
Br + ?Hz—\?Hﬂ — FSr—il [,+ 1,0
R (where R = -CHj3)
16 |m=z It I=5A t=20x60s= 1200s
_ atomic mass_ I xt %
nxF .
_ 58.7gmol™
2% 96500 Cmor—1 X 2 AX 12005 Y2
m=1.825¢g (or any other suitable method) 1
17 | Half-life of a reaction is the time in which the concentration of a reactant is reduced to 1
half of its initial concentration.
(i) (ii)
' [R], 0.693 Vet
bz =5, Ly T
18 | Rhombic and Monoclinic 1
Rhombic Sulphur Y
Rhombic sulphur changes to monoclinic sulphur %
OR
18 a) High pressure and low temperature 1
b) Because ionization of HSO is difficult / removal of proton from negatively 1
charged HSO is difficult.
19 | (i) Concern towards environment / caring / socially aware /team work. (atleast 1
two values)
(i) Polymers which can be degraded by the action of microorganisms. Eg. PHBV | 1
, Nylon -2-nylon- 6/ any natural polymer
(iii) Homo polymer 1
20 | (i) polysaccharides- are carbohydrates which yield a large number of mono saccharide 1
units on hydrolysis.
(ii) Amino Acids- are the compounds containing Amino and carboxyl groups. 1
(iii) Enzymes are the biocatalysts which increase the rate of metabolism / chemical 1
reactions in living organism.
21 (i) The drugs which are used to prevent the interaction of histamine with the 1

receptors present in the stomach wall. Eg. Cimetidine / Ranitidine /

2




Dimetapp (or any other)

(i) Chloramphenicol 1
(iii) Because it is unstable at cooking temperature 1
22 (i) A = CH3CN B = CH3CH;NH, C=CH3CH,OH YatVotVa
(ii) A = CH3 CONH; B = CH3NH; C=CHsNC YatVotVa
23 | (i) Schottky defect, due to similar size of K* and CI" ion h+%
(ii) n-type 1
(iii) CO2 v
(iv) Ferromagnetic Y
24 a)
(i) The fuel cell runs continuously as long as the reactants are supplied
(i) Highly efficient i
(iii) Pollution free %
(any two)
nE%cell
b) log Kc = 0059 y,
2xE0cell
log Kc = 0059
%
2xE0cell
log 10 ;029059 [log 10=1]
Eocell = _.2 =0.0295V
1
25 SO, Cl, - SO, + Cl,
Att=0s 0.4 atm 0 atm 0 atm
Att=100s (0.4 -x)atm X atm X atm
Pt=04-x + Xx +X
Pt=04+x
0.7=04+x
x=0.3
2.303 i
k=22 log —* 1
t 2pi—pt
2.303 0.4
k=— log
t 0.8-0.7 1
2.303 0.4
k=—+ log—
100 0.1
k=222x0.6021=139x10? s !
26 a) % k p™ orlog (x/m)=logk+1/nlogp 1
b) Dispersed phase = liquid Dispersion medium = Solid 1
c) Because of coagulation of colloidal particles 1
27 a) +3 +2 +4 oxidation states 1

b) Transition elements




(i) Form coloured compounds

(i) Form complexes
(iii) Act as catalysts
(iv) Paramagnetic
(v) Form alloys
(vi) Form interstitial compounds (any two) Yt Ys
Or any other
c) Zn because of fully filled d orbitals Yht¥s
OR
27 a) Because of stable half filled orbitals (3d°) 1
b) Because Zn has no unpaired electrons in d orbitals. 1
c) Because of the presence of one unpaired electron in Ti** whereas thereisno | 1
unpaired electron in Sc*3
28 | a)
(i)
CHs-CHO CHgMggr CH3CH(CHs)- OMgBr H3;0*  CH3CH(OH)- CH; 1
(i) CHsCHO Zn-Hg | CHs-CHs 1
Conc HCI
(iii)  CeHsCHO + CH3-CHO  dil NaOH,, CsHsCH(OH) CH.CHO 1
(Award full marks even if only products are given)
b) (i) Add NaHCOs, benzoic acid will give brisk effervescence whereas ethyl benzoate will | 1
not give this test. (or any other test)
(ii) Add tollen’s reagent , propanal will give silver mirror whereas Butan-2-one will not 1
give this test. (or any other test)
OR
28 | a) (i) Because the positve charge on carbonyl carbon of CH; CHO decreases to a lesser 1
extent due to one electron releasing (+| effect) CHs group as compared to CH; COCH3
(two electron releasing group CHs) and hence more reactive.
(ii) because one of the —NH, is involved in resonance with carbonyl group and hence 1
acquires positive charge.
(b) (i)
0
I CHO
O ot O 1
Pd - BaSO,
(ii)
R-CH,-COOI (1) X,/Red phosphorus » R-CH-COOH
(i) H,O
X 1
X=Cl Br

(iii)




H
H H 0
\ N | 4
C=0 + /C:(_) + Conc. KOH —— Il—(l‘,—(_)H + H—C
OK
H H H
(or any other suitable reaction)
29 (i) Raoult’s law : state that for a solution containing volatile components, the 1
partial vapour pressure of each component is directly proportional to its
mole fraction.
Ideal solution. 1
.. . Wcacl, 1000 1
(”) ATo=iKo XMcaclz WH,0
_ 1 109 1000
=3x0.512 K kg mol*x 11 gmol X500 ' 1
=0.69K or 0.69°C 1
OR
29 a)
(i) Azeotrope is a liquid mixture which boils at constant temperature with 1
constant composition.
(ii) Osmotic pressure : is the pressure applied on the solution side to stop the 1
flow of solvent across the semi permeable membrane from lower
concentration of the solution to higher concentration.
(iii) Colligative properties : are the properties of solution which depend upon the | 1
no of moles of solute or concentration of solute and not on the nature of
solute.
-8 _Wws, 1000 %
b) - T X Yool (B— Solute)
_ 98y 1000
=98 gmol-1 X 100 * 1.02 Y2
M =1.02M 1
30 a)
(i) Because Bi is more stable in +3 oxidation state.
(i) Because of the availability to d orbital in P which is not in N/ nitrogen
cannot extend its covalency beyond 4 1x3=3
(iii) Because of the formation of Hy(g) which prevents the oxidation of Fe*?
to Fe*® / HCl is only a mild oxidising agent
b) (i) (ii) 1+1
o
Xe
o )e
OR
30 a) (i) (ii) 1+1




P

P
/N, ZIN\
B P-P P
NL N LA
P P
Polymeric

b)

(i) Because of the presence of two unpaired electrons .

(i) Because of high ionization enthalpy of He.

(iii) Because of the presence of two P-H bonds in H3PO, whereas in HsPOs;

one P-H bond is present.
Name Sr. | Name
No.
Dr. (Mrs.) Sangeeta Bhatia 9 Sh. Partha Sarathi Sarkar
Dr. K.N. Uppadhya 10 | Mr. K.M. Abdul Raheem
Prof. R.D. Shukla 11 | Mr. Akileswar Mishra
Sh. S.K. Munjal 12 | Sh. Maya George
Sh. Rakesh Dhawan 13 | Sh. Virendra Singh Phogat
Sh. D.A. Mishra 14 | Dr. (Mrs.) Sunita
Ramrakhiani

Sh. Deshbir Singh 15 | Ms. Garima Bhutani
Ms. Neeru Sofat
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